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a) Fe  + H2SO4 = FeSO4 + H2
) 2Al  + 3H2SO4 = Al2(SO4)3 + 3H2
) 2Al  + 2KOH + 6H2O = 2K[Al(OH)4] + 3H2

2) : 
n(Al) = 2/3n(H2) = 2/3 · (6,72 / 22,4)  = 0,2   
m(Al) = 0,2 · 27 = 5,4 

3) . 
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V(H2) = 8,96 − 6,72 = 2,24 

 n(Fe) = n(H2) = 2,24 / 22,4 = 0,1   
m(Fe) = 0,1 · 56 = 5,6 

4) : 
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2) 4Al(NO3)3
t
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( , ) 
: 

1) : 
O3 + 2HCl = H2O + CaCl2 + CO2

2) , 
: 

n(HCl) . = 150  1,04  0,09 / 36,5 = 0,385  – 
n(CaCO3) = 10 / 100 = 0,1   
n(HCl) . = 2n(CaCO3) = 0,2 

3)  (
): 

n(CO2) = n(CaCO3) = 0,1 
m(CO2) = 0,1  44 = 4,4 
m (p-pa) = 150  1,04 + 10 – 4,4 = 161,6 

4) : 
n(HCl) . = 0,385 – 0,2 = 0,185 
m(HCl) . = 0,185  36,5 = 6,75 

(HCl) = 6,75 / 161,6 = 0,042,  4,2% 
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